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| | Complete the following conversation with suitable modal verbs:

Waiter: Good evening, (&) you like to give your order?

1 Solomon: I (b) _ like to waitalittle, __ be half an hour later.

Waiter: Very well, Sir. Meanwhile, (c) | bring you something to drink?
Solomon: Ifyou (d) __ bring a drink without sugar.

Waiter: Yes, Sir. You try our lime juice with soda.

2 | Complete the following conversation with suitable modal verbs:

Father: (a) __ you go to the post office just now and send these letters by registered post?
Son: There (b) be a rush at this hour.
Moreover, | (c) not go to office on foot.
Father: But why (d) you go on foot? What happened to your scooter?

3. | Complete the following e-mail with suitable modal verbs:

I’ve had a terrible day! I (a) have got up early, but I couldn’t get out of bed! It was
too late to go by bus, so | (b) get a taxi. Luckily, I (c) to find one quite
quickly. Of course, when we arrived outside the office, I didn’t have any money, so I (d)

pay the driver. Anyway, | was to borrow some from the receptionist. I’ve paid her back
already, but do you think | (e) give her a present as well? My boss was waiting for me
in her office. | should (f) arrived at nine o’clock, and I was half an hour late. 1 (Q)
have taken a taxi at all, though! She told me the company was closing, so | (h)

find a new job.

Complete the following paragraph with suitable modal verbs:
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You (a) see a large number of migratory birds flying to India to escape the extreme
cold conditions of many parts of the world. And as the weather heats up a little, these birds (b)

no doubt fly back to the destination they came from. These birds usually leave the icy
climate during the winter lest they (c) die of cold. The Delhi Zoo is one such place

where you (d) find a large number of migratory birds every year.

In the paragraph given below there is one error in each of the lines. Write the incorrect
word and the correction in your sheet against the correct blank number:

Error Correction
“The whole area might be cleaned up
And one way traffic norm shall be enforced
There can be ‘no entry’ for rickshaws.”
“Cycle rickshaws need not be allowed
Between 9 a.m. and 8p.m. Mini buses can
operate from the parking lot. There may be
strict rules. Public transport might not be
allowed on this road. The side walls could be

expanded by 4 to 5 metres,” said the local M.P.,
Mr. Kapil Sibal
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